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@ +TOF MS from Training_ MW_W_20220302.wiff2 (...xperiment 1 @ RT: 5.92 from 5.88 to 5.98 min
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@ Reconstruction from Training_ MW_W_20220302.w...xperiment 1 @ RT: 5.92 from 5.88 to 5.98 min
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10000 -
9000 A
8000 -
7000 A
6000 -
5000 A
4000 -
3000 -
2000 -
1000 -

148057.56

05756 +2GOF-2K

+2G0,+2Glu->pyro-Glu
+1G0,+1GOF,+1Glu->pyro-Glu
+1GOF+1G1F-2K

148220.54 +1GOF,+1G1F+2Glu-
|
148149 52 & >pyro-Glu,-1K

148378.74&—— LoG1F 2K

t+2G0,+2Glu->pyro-Glu,-1K

147850.

147923.98
147638.38

1.480e5 1.485e5 1.490e5

Mass, Da

1.475€5





